
Serial No.4318 - 
Checked By:

     Tech
     Date

Box 1 -  RPU013/50
1 RPU013 Processor Unit (set for 50KW) 1
2 000-155-826 Fuse FGBO 10A 4 sub SP03-14404
3 Fuse sub SP03-14405
4 Fuse sub SP06-14406
5 000-147-417 Wago Tool (small) 1 sub CP03-25602
6 000-808-981 Wago Tool (large) 1 "
7 000-538-118 Crimp Lug FV2-4 2 "
8 alternate to above sub CP03-25603
9 alternate to above "
10 alternate to above "
11 OME-352-21Z Operator's Manual 1
12 OSE-351-90Z Operator's Guide 1
13 IME-352-21Z Installation Manual 1

Box 2 - Control Unit 
Part No. Description Quantity Yes Remarks

1 RCU014 Control Unit w/ Cable Assembly 1
2 100-306-251 Fixing Bracket 1 sub 008-535-610
3 000-147-167 Grommet "G39" 1 "
4 000-803-043 "3M" Brand Bumper Cushion 3 "
5 000-881-447 Washer Head Screw M4 x 12 2
6 000-881-447 Washer Head Screw M4 x 12 4 sub CP03-025604

Box 3 - Gearbox
Part No. Description Quantity Yes Remarks

1 RSB106 50KW Xband Gearbox w/ RTR083 1
2 300-130-020 Seal Washer 4 sub CP03-31301
3 100-091-112 Corrosion Proof Rubber Mat 2 "
4 000-808-981 Wago Tool (large) 1 "
5 000-538-118 Crimp Lug FV2-4 6 "
6 000-538-123 Crimp Lug FV5.5-4 1 "
7 000-864-263 Spring Washer M12 4 "
8 000-864-132 Flat Washer M12 4 "
9 000-163-112 Hex Nut M12 4 "
10 000-862-191 Hex Bolt M12x60 4 "
11 000-158-856 Hex Nut M6 1 "
12 000-158-855 Spring Washer M6 1 "
13 000-158-854 Flat Washer M6 3 "
14 000-862-180 Hex Bolt M6x25 1 "
15 000-566-000 Grounding Wire .3M 1 "

For Internal Use Only

RPU013/50

RCU-014

PACKING LIST FOR FAR2157BB

WT: 29 Lbs DIM: 19"W x 21"L x 12"H

WT: 10 Lbs DIM: 11"W x 19"L x 8"H

WT: 155 Lbs DIM: 25" W x 30"L x 27"H RSB106

Page 1 of 2



Serial No.4318 - 
Checked By:

     Tech
     Date

Box 4 - Cable
Part No. Description Quantity Yes Remarks

1 000-147-373 Cable 50M (Type RW9600) 1

Box 6 - PSU006-106AC-60
Part No. Description Quantity Yes Remarks

1 PSU006 Power Control Unit 1
2 000-155-840 Fuse FGBO 5A (for DC) 2 sub SP03-15501
3 Fuse for Alternative Input 2 sub SP03-15502
4 000-538-118 Crimp Lug FV2-4 14

rev 12-17-07

WT: 15 Lbs DIM: 17"W x 22"L x 9"H PSU006-106AC-60

WT: 85 Lbs DIM: 23"W x 23"L x 7"H 000-147-373

For Internal Use Only

PACKING LIST FOR FAR2157BB (con't)

Page 2 of 2


